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We lowered him, we will elevate him  — 579% Jop0% AR 799 119008 3N

OVERVIEW

The X713 details the case where A"2w 1 X"7 argue. There was a 7P that the father
was a 19, and this was followed by a 9 that the son is a w173 32 (so his 737
rights were forfeited), after which an X"V testified that the son is w2, whereupon
he was (re)elevated to the status of 71172. This was followed by two 0>7V claiming
that he was a w173 12 and another ¥ saying that he is a 7w>. Initially the X713
explained that 3"2w" maintains we are not 7"27 XM wwn and we return him to
his 7172 status. The question NMBOIN discusses is how can we give him a 7117
status when there are two 2’7V (who contradict the °7°w2ni7 2°7V) and maintain that
he is a 7wMA 7.

= 2 nm iR NY2) YPINY 299 2119 95 YPIN 11393 29 2901 23 Y 9N 10902 wa
>'"w9 explained; even though there are two 2’7 against two 2°7v (so how can we
elevate him to 71172), nevertheless we place the two against the two to cancel
them out and we place this person on his presumptive status of 7172,

Mmoo questions this explanation:
- 3191 5950 >N9> %3) MNP (0w 8,0 91 PYITPA MIIND 79927 PNY 13939D DYDY

And the "9 has a difficulty with >"w79, for in 9287 P99 in PRI 1201 the XA

states regarding >X1°; what is the case -
= INANYN NY 299X 295 ININYN 299N 2907 N1IIIIN

If we say that two 07V said she was captured and two 27V said she was not

Captured (and that is why °XI° was vindicated), that is not a valid explanation, for -
= AN TIND ININYN NI 19INRT 2NN WITD 1NN NINDT NN INN

Why do you see to depend on these, meaning those that said she was not

LRy 7.
2 See »"wn there who writes 1YW N7 bw'{ 1AM PR ONOR RAT AR R NWRAT TV D DY IPORT RNMNP TRIOR 11PN
X17. (See footnote # 57.)
3 There was a controversy surrounding the (72173) 77 of 797 x>, There were rumors that before his birth, his
mother was in captivity among non-Jews; thereby making (her a (112971) 717 and making) X3 a 21 who is 2109
mn3%. [A Jewish woman who had relationships with a non-Jew is considered a 11w, She is forbidden to marry a 172.
Any child she has from a 373 is considered a %511, who is 7137127 2109. A woman who was held captive among non-
Jews is considered 112771 as a 1, regardless whether it is known for sure if they had any relationship with her.]
The o nom ‘suggested’ to “X1° that he give up the 71715 on account of these rumors. The 221 there continue to relate
that the matter concerning her captivity was investigated and the rumor could not be substantiated. The X713 there
asks how is this that the rumor could not be substantiated, and *X2* was vindicated (as M591n here continues).
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captured, depend on the others who say she was captured; the question is -
= N81I) XD 92910 WP 9IND INNDN)

So why did the o101 say the matter was investigated and could not be

substantiated, when seemingly it is substantiated that >X2* is the son of (at least a poD) captive
and should be 7117757 9100 (at least poon). This concludes the citing of the X713, The question on
"1 is that even if there were > 70 that would still vindicate >R because we say 7722 >N PR
NP2 (ORI OX) X123 PR n! What is the s'Rn3 question there?!

mooIn cites s""w7 answer to this question:
= PYPINN NI2) SPINY 299 2712 2990 YPIN 199N NYT DIVNPA WO *onm

And >'"w1 explained there that in the case of °X1> we do not say >S90 57772 990 5PN

SOPIMR RI23 OPINY -
= MY NPIN N2 XD 1Y AN HY NIN N DY TPYNY INI XD NNY

Because the 7V did not come to testify regarding s"XI>» mother (who has a npmn
mMwd) but rather they were testifying regarding the status of X3, and °X2 had
no MW NP,

In summation; >"w1 is saying that even though the status of *X3> is completely intertwined with
the status of his mother, nevertheless since we are not discussing the mother, only *X2, therefore
the m17w> npin of the mother is not effective for °X3°, the son.

mooIn disagrees:
- 97 YPYNTI KXY B) NINM DNN NPINT PHY 13399 N9 PN

And the >''1 disagrees, for the 17117 of the mother is effective even for X2 as it

seems here® -
- "n1aa 9Pwam 13 PYINN 39319 (0w x,» 91 RIAP P93 DIPY 5133 13999N)

And the X713 also said previously in the first P95 that the one, who validates
her, validates her daughter as well. The same should apply to >X2> and his mother.

4 7m0 1"72 where he writes, 2R 77°nN7% 722 X2 300 AR X7 K 22 037 INRIAR RNNOR PRI 2N 27722 570 SPIR DN R
21092 INT°7 NI HY DOTOYN W MWIT TRTR 12 PR 173 a1 12, There was no discussion regarding the permissibility
of the mother to marry into 7173, only the status of X2,
> The suspected w113 12 here also has no p11; the reason we are 779 him to 73370 is because of the 7pn of the
father who is p1mn to be a "w> 1712, the same should apply to *X1 that the axn npi should apply to him.
% It will be necessary to say (according to n20n) that the 287 NP means (not merely that the father is a "> 1713, for
how does that negate the possibility of the son being a w173 712, but rather) since the father is 7> 175 np2 he is also
npma that he will not marry a 7173 (see *"19). [See also 27p Mk 2"2 oYW yaIp.]
’ The case there is where a (unmarried) woman was pregnant and she claims *ny21 9w2%; the view of 3" is that she
is believed. There is an opinion in the X713 that just as she is believed regarding herself (that she is not 71117737 2109)
similarly the daughter that is born is also 7117737 2w>. This is because the mw> npin of the mother is transferred to
the daughter, even though the daughter has no M w> nprm.
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Mmoo responds to an anticipated difficulty:
= 593t 933 YWY NYYNT DIVN 19990 PHNAa YDOT NI 19ON)

And even the one who invalidates the daughter for 71170, that is because the
o201 made an extra stringency for 0m regarding nt.

mdoIN mentions and negates another attempted resolution between our X713 and the case of *X1:
= APINNR 1NPIN ONN 9125120 RIPTT O 13929 NNV 1D 91919 PN 0N

And we can also not say as the n''% answered, that there by °X> we cannot say

that we should place °X2° on the 71?1717 of the mother -
- Ymynaw nptna 190 DIWIN Yaw %Y

Because all the women were presumed to be captives. This is the answer of the n" -

mooIn rejects this answer:
- M4RN 1ya DINPIY INUN Y IR N S99 %0 12 ON9Y

For if indeed all the woman were 7712w np1n2, how can »2X bring proof from the

story of °X1* regarding the case of a woman who an R'"'Y claimed she was 1% -
= 950 NPINA XN NPT INYN YAX MNAY NPIN DIYWIN DT ONN INVY

For the case of "X’ is different (than the case of »2X), since (according to the n'"7)
all the women were n»aw npra, therefore the X"V is believed (since he is
supported by a 7p1), however by the case of nm™w K"K (the case of »2X) the

alleged woman has a 2071 NP1, so what proof does »ax bring from *X». Therefore we must
say that in the case of °X1> there was no 712w npin either, and °X2> aX had a n°7 NP (just like the
case of aR).

In summation; the view of m0In is that the (aR7Y) ar7 NP is (3271) N2% *3n; we therefore need

¥ We could therefore say that the X3 in Pw17p regarding °X2® maintains 7033 Y010 72 PWonT XY, therefore the nprn
R1°D °371 RY 0X7, and the X773 here maintains N2 °17% oXi NP therefore we are 79V the son 711725.
? The omon were stricter regarding a child who was born from nur (like in the case of the unmarried woman) and
decreed that in that case the na% °3 X7 oXn npm (perhaps because since she is promiscuous, she is not that careful
with whom she has relations with). However where the child was not born from ni11, like here or in the case of >k,
all will maintain that n2% °377 aX3 NP,
1% According to the 0" it was presumed that all the women in 2¥°7» (the place where we suspect *XI 2 MK was
captured) were captured during a war. In addition to this presumption there were o7y who testified that the mother
was captured and 279 who testified that she was not captured. Even if we are to say >0 >772% *Jn *pX, nevertheless
the 711 is that they were all captured.
'" There is an argument there between X271 »2X in a case where an X"Y told the husband that his wife was mam,
whether the wife becomes 70X to the husband. »ax maintains that the 7v is 7281 and she is 79v2% 770K, To prove
his point, »ax cited the case of "X and argued that it cannot be a case of > 70 there, for we should follow the o7y
who say *RanwR, therefore we need to say that there was one 79 who said *XanwX and two 2°7¥ said >Xanw X XY,
therefore "X was vindicated. If however there would not have been the two 07y that said *Xanw°X X7, then X
would be 2108 because we believe the X"y,
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to understand the difference between our case of M °7n where the alleged 7w I3 j2 is W>
because of the 2x77 npin, and the case of *X1® where he would be 2109 (if there would be >3n1 °7n)
even though there is a R NPIN.

mooin offers his interpretation:
= APINNR ND 1999910 RDT 199DNN 19297 2 192949 RPOD Y9 29NT PN 19939Y AN

And it is the view of the ' that n''\n is a 33297 P20 and it is 22977 that we are

strict and we do not place her on her 7n°7 np7; this explains why by *X* he would be
2309 -

=997 13297 N1YINA XN
And here regarding 31297 7190 the 2°n31 were lenient and permitted him to eat
11277 7170 since there is a n°7 NP (and X7IP7 13277 X oD).

In summation; >"wA and the >"7 both agree that by n"in we follow the 7p1m. However according to
*"wA that is only if the person in question has a 7P (as in our case where he has a n°7 npIn
[through the &"V]) but not where the n°7 NPt comes from the parent (as by °X1). The "
maintains that even where there is a 0’7 npn, if it is an Xn»7RT MK (like by °X1°) the 1139
consider it a po0 and we are VAN,

noon will cite several sources which seem to contradict the °"1 and resolve them:
= 9995 ANNVI NN 22N (x,n5 97 Py 12991 D92 PY93)

And in P27p» 922 P95 regarding one who made an 1210 °217°Y with 72190 and

the 217°Y became X»u, etc. -
- ©51Y 509 SNWA 901 29 139 1Y P PN 234 9931 Hona anan Nt 10 Ppovo

12 59 1 by n"in we follow the 1Pt and if there is a Wn°7 NPIn it is permitted; however the 7127 decreed that even
though there is a 07 nP1n it should still be considered as a 50. Therefore if the issue at hand is a 770 issue (like
the case of >X2>, where a 971 is XD 7117722 7109), the 2°»om said that RIT7 XN*RT XpP*00, notwithstanding that
there is a Wn°7 NP1 (see ‘Thinking it over’ # 1); however if the issue at hand is a 7131277 (like in our case where we are
debating whether he can eat 11377 21n) then it is permitted since X777 11277 Xp°o0. The *"1 negates the view that
n"nis a XN»MXT o0 and we do not take the 71 status into consideration. Obviously if there was a Mo°X NP1, then
it would be 70K *&71 (whether it is an RN»7IRT MOXR or an 11277 MO°K).
13 There was a doubt as to when the 217" became Xnv; whether it was before naw began in which case it is not a
valid 217 (since once the 7m0 becomes &1t and has to be burnt it is no longer 719°38% »X1 when naw begins), or it
became &nv after the onset of Naw (in which case it is a valid 217V since it was (37737) 77°2X? X1 when naw began).
' Literally this means ‘donkey camel’. It is as if a donkey is pulling him in one direction and the camel in the
opposite direction so he can barely go anywhere.
'> A person may place his 217"y (up to) two thousand nX from (his home in) the city. The 217 entitles him to go an
additional distance of 7% 097X in all directions from the place of the 217°¥ (his 1in°aw opn) only. In our case if the
27 is valid, that is his 7n°2w 01pn and he can go 7k 07998 from the place of his 217°v only. If the 217"V is not valid
he can go nmR 097X only from his home (and cannot go past the 217°¥). n"7 maintains that we place both
stringencies on him and he can only go from his house to the place of the 217°¥ (two thousand 7nX) but no further
(because perhaps the 217y is not valid), and he cannot go from his house in the opposite direction from his 217
4
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If there is a doubt as to when the 217°Y became Xnv, this person is like a ‘donkey
camel’; this is the view of »'9. And >'"'" 729 established that this pp0 was a

result of two groups of 2°7¥ who offered contradictory testimony as to when the 217y
became Xnv. This concludes the citation from the X7na.

mooIn responds to the anticipated difficulty:16
= 133497 NN AT NMINT 2) DY N NNNPLVI XOT 171151??1‘\2‘{ 1799991 RYT XN

The reason we do not place the 770 on its MW NP status and assume that it

did not become X»w before naw, since 3''7712 729N is 1327 -
- 951 9295 XNNINT PPN 529997 DIV 13991

That is because »''% maintains that 3520 3219% is a XNY99IRYT, therefore we need to
g0 RMno —

nooIn offers another distinction between the case of 217°Y and our cases:
- ¥5n1INT N NPIWUA 19998 N 72395 NNNVI 90T NP NIINT ONN SINY ) ON

Or you may also say; it is different there by 217°v, for there is a flaw in its npIn

77170, since presently it is X%, so we do not say it became X»% now (during naw),
but rather it was ¥»v in the past up to the time we knew it was M0 —

mooIn anticipates a difficulty with this reasoning that we follow the xnwiT aprm:>°
— (3,297 71 NDINY 290N XY NOWH 13599 NYPNI 2)7 2) HY 9N

(because perhaps the 217"y is valid).

1 Since 1712 N is 112977, and R 13277 X 00, therefore (since it is a case of n"wn) we should place the 7770 on

its I nptn that it became Xnw (as late as possible) after naw began (see following footnote # 17) and the 2177y

should be valid. See ‘Thinking it over’ # 2.

' This is not precisely the same case as here (or by *X*) where one group of 07y say there was no 109 (or she was

not captured), however in the case of 217°¥ both groups of 27y agree that the 77N became Xnv (and is presently

Xnv), nonetheless since both agree that initially it was not X»v and one N> maintains that it became &nv after naw

began, we should assume that its initial 77V status remains until we became sure that it is X»v (which is after naw

began). See nv0IN second answer (footnote # 19).

'8 This seemingly means that even though the concern whether it is X» or not is only regarding a 13277 (where we

would rule that X721 71277 X°00) since XN»7RTA it is not 17N at all, nevertheless since this impinges on a Xn>87

issue (namely 1m0 1Y) therefore we do not say X232 13377 Rp*o0. That is reserved exclusively for instances

where the entire issue is 131277, like in our case; eating 131277 7m170. [Alternately, the 7170 now is certainly Xnbv, so as

far as the 7170 is concerned it is irrelevant as to when it became &nv; the question is only whether the 217"y (which

is a RN»MRT 17) is valid, so therefore we are 7 nnn.]

1 See footnote # 17. Instead of following the X7°vn7 7P when it was 7170 and assume that it remained 7170 until

we know for certain that it became &»v, we can follow the Xnwn7 711 that it is now 8»v and assume that it was Rnv

all the time up to the point where we knew for certain that it was M.

%0 See previous footnote # 19.

*! The w"w" amends this to read: *XnX) 9en %% KSNT W5 9% 7077, The Xm3 there is discussing a mpn that had the

2w (of X0 ') and after a while it was found to be lacking the 2Www; the rule is that any 7%2°2v that was done after
5
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Even though that regarding a mp» we [would be prone to] say it is now that it

became deficient (and not that it was deficient earlier), and we do not follow the XnwnT pin,
but rather the X7°yn 7p11; why is it different by 1270 2217797

mooIn responds:
- ZypoNT XYY NOWN 19998 ND DY NI *NY NIINT NIN
Here where there are two groups of 2°7¥ and one group said it became Xnv

before N2, we do not say it became X»W now (after naw began).

In summation: According to this last answer we say that by a 71277 X090 [even if it is M 0] if
there is a In°71 NP1 we rule X71P%, provided there is no XM0°RY XNwn7 npin, however if there is a
RMOK? ®nwiT AP and M 0 we rule X n? (however if there is no n™n [just a regular P50]
we follow the R2P% XpvnT mpin even if there is a XMOXY XNwiT 7pin [except when there is X720
telling us to follow the Xnwin7 P (as by Mpn)]).

mooIn anticipates an additional difficulty on the >"5:
= NS85 KD (3,35 97 9999 19990RT 111 XD 099N 02W) HN DI99IN DY)

And in the case where two 2°7v said the husband died and two other 2°7V said he

did not die; where the 3127 ruled that if she remarried she need not leave her new
husband -

- PUON nUN NPINN 1Y 199071 XYY
And we do not place her on her initial status as a married woman, which would
prevent her from being together with her new husband. This contradicts the view of the > that

the last 7> measurement is invalid. The X7n3 there explains that we follow the Xnwn7 APt (where it is 701) and not
the RIp°vi7 npin, because the nature of a Mp» is that it loses water a little at a time and not all at once. Therefore
since now it is a 701 we assume that it was losing water for a period of time. It is apparent from that &7n3 that if not
for this reasoning of *XnX1 7o we would follow the Xp°¥n7 npm and the past m?av will be valid. Therefore it
follows that by 1"»11n "217°y where there is no X720 of *XnX1 701 and no logic to tell us when it became Xnu. We
should follow the X1°yn7 7P (that it was 7177v) and not the XnwiT 7PN (that it was X»nv).
2 In a case where there is a 90 (without contradictory 0*7v) as in the case of the mpn we could say that we follow
the X7°vn7 7p1n (if not for the X120 of *XnX1 10m) and rule X7p; however in a case where two 0>7¥ testify X7 (as
by 1m0 "217°y where two 0°7v state that it was Xnv1 before naw) we cannot follow the X3p°y»7 1P and say that it
became Xnt1 on N2, since there are two 0°7V who testify that it was Xnv1 before naw.
* This question does not seem to related to the view of the >, for the *"7 maintains that by n"\n we follow the 7Pt
RNMIIRTA, however 112777 even if there is a Wn°n NP, nevertheless if it is a XN»MRT ®pP°90 it will be 7oK (see footnote
# 12). However by 21 nn 0 '3, even if we disagree with the " and maintain that n"n is a Xn>7X7 ¥p*00 (and
we do not follow the an>7 npm) so certainly when there is a 790°% npin she should be 79¥2% 770X and be Rxn.
However, we can explain this as follows; if we maintain n"1n is a Xn>7X7 Xp°50 (and we do not follow the 7pIM),
then we can explain the ruling of Xx¥n X% as the X3 explained it previously that *7 32 XY 7791 TIR? NRW3, this
removes the Xn™7X7 Xp°00; however if we follow the ruling of the °"7 that by n"in the 770 7°7 is that we follow the
7PTn, so once she has a MoE°X NP1 even if "1 7P7vn TIRY NXWI, that cannot change her status as an °X71 X"X. [This
scenario of 2 *12 nAIRY 7°7¥n 'RY nXw1 will have to be utilized in (some of) the following cases.]
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by every n"in we revert to the initial 7P status. In this case her 7P status is that she is an X"X;
how can we allow her to remain married to the new husband?!

mMooIn responds; the reason why it is X¥n R (despite the R"X npIn) -
= YIN NYN NPIND NY NyImn #N2031) NPT DYRT APINT OIVN 1N

That is because the presumption that a woman is meticulous in verifying her

husband’s death, and only then does she marry, weakens her X'"X np1n, and since
she and the 7 she married claim with a certainty that the husband died, therefore X¥n RS —

mooIn anticipates a difficulty with the assertion that 820111 8p>>7 WX in this case:
- 545 9109 NANINT (3,10 mnan N9 HYNNA 199919 NN DMININ DIYAT 2) JY 4N

Even though the X n3 states in 7739 7wNT P79 that if two witnesses testified that

the husband died, she is permitted to return to her first husband -
- ;5941 XY 91D NIN NIYYT 1199
And since there is no stringency at the end, she is not that meticulous to prove

that her husband died, therefore here too (by 121 n» 2R 0°1w), where there are two 27V that
say he died, she is seemingly not 2011 X>»7, and the R"X npin is not flawed, so why RXxn &5?

mooIn responds:
- N30 NDOR Nt N AT PYININT 1975 XN DIPN Yon

Nonetheless here by nn &% o™X ') nn o™X D°w since the two 7Y °nd

contradict each other there will be the 71027 X227 (she will be "o [ min K¥n),
therefore she will be 820121 XpP>>7 and that makes a XMy in the R"X np1.

mooIn continues the discussion regarding X201721 Xp>7 and n"™n:

** The woman wants to be certain that her husband is dead before she remarries (in order to avoid the complications
if he should return [that her children from the new husband will be o>, and she will be "1 71 A RXN]),
therefore this diminishes the power of her X"X npri and we consider her a P50 and since she is 21 7> 'R? NRWI we
rule that X2n X7 (see footnote # 23). See ‘Thinking it over # 3.
 The rule is as follows; if there is only one witness that her husband died she is permitted to remarry; however
there will be dire consequences for her if the husband returns (alive); she will not be able to remain with either of
her husbands and she loses her 72102 from both husbands, etc. However if two 0’7y testify that her husband died and
she remarries and her original husband returns she is permitted to return to her original husband (she is obviously
prohibited from remaining with her current husband since she is the &"X of her original husband).
%6 The X3 there explains the reason that we allow a woman to remarry based on the testimony of only one 79, is
since we will be very strict with her if her husband returns, therefore we are sure that she will be X201 Xp>*7, out of
fear that if her husband returns she will have to face dire consequences. However when two 0°7¥ testify that her
husband died, the consequences are not that severe, therefore there is no X201'm1 Xp»7. In the case of n» o™ MR "W
491, there are two 0>7¥ who say he died and therefore there is (seemingly) no 7102% X111, and she is not X207 RpP>T,
therefore the X"X NP7 remains.
?7 See TIE previously on X277 71"7 2,23 footnote # 5.
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= NS NXD 993 19299RT YN XY 099N DY) NYWIN) DI9MIN DY)
And in the case where two 07V say she was divorced and two other 2’7y say she

was not divorced, where the ruling also was Xxn XY -
- ;991 X941 2 Yy 9N

Even though that by 12173 she is not X201 8357, The question is why is it Xxn X5,
since it is 1" and she has a X"X NP1 she should be XN?71R7A 770K to remarry —

mooIN rejects a possible solution to this question:
- 71539 AW AYNRND PRT NPIN 993 XYY

And we cannot also say that there is presumption that a woman is not brazen

to claim that she is divorced unless it is true -
- 2oy AY PY»ONRT XN 19V Y99 Cntoyn nYya 2193 RYWH

For a woman is 7717y to say I’'m divorced not in the presence of her husband,

and she is certainly 77v»n where witnesses are supporting her; therefore her claim
that she is divorced is meaningless. The question remains why R¥n X? since it is n™in and she is
R"X npina?!

N1B0IN answers:
- 2 NIYTIA DN 19099 IN PNy 1Y ANDY 295 XY 0PN YT Y U

And one can say that notwithstanding that her permission is divorced based,
nevertheless she is X201 Rp»7, for she is afraid that her witnesses may be
impeached or they will be disqualified as robbers.

28 When her permission to remarry is based on the death of the husband, the woman is X201°'m1 Xp™7, because if he
returns she has no contradictory claim (he is her husband and alive), however if her permission to remarry is based
on divorce, then (seemingly) she is not X201 X7, for she thinks that even if the husband returns she can always
claim that he divorced her.
2 The rule is if a woman claims in her husband’s presence; ‘you divorced me’, she is believed because 7wX "X AP
79v3 %192 7710 nrvn. Therefore if it were not true that she is divorced she would not have to 717 to claim that she is
divorced. Perhaps this 1 applies to this case as well, that since she claims that she is divorced (see [end of]
footnote # 23), she should be believed (even though she has a X"X npi), because of the 131 A1yn AWK X AP
3 A woman does have to 7137 to claim ‘I’m divorced’ even if it is not true, if she makes this statement not in the
presence of her husband. There is no proof that the statement is true.
3! Here there are two 07y that support her claim that she is divorced, therefore she will have the 71¥71 to say 1w
even in the presence of her husband (even) if it is not true.
% mooin is retracting his previous assumption that there is no X201°»1 X7 regarding w13,
3 Other 0*7y may come and say that on the date in which you claim that her husband divorced her in this place, at
that time you were with us in a different place and could not have witnesses the divorce you describe. This is called
111 and the latter o7y are believed. She will then lose her w17 7y,
** Other o7y may come and claim that the P17 *79 stole something (some time prior to their testimony). They will
be disqualified as 0»7v. See ‘Thinking it over’ # 4.
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In summation: the X"& NP1 can be removed through the 7P of X201 XP™7 (even by PwI7)).

mooIn has an additional difficulty with the *":
- 9919 ¥y N1NR223 TN 1Y NYY 2919 19359 193 533 (0w 2,08 0wy AT HYNNA)

And in 7739 TWRT P79, regarding that which they inquired from nww 29, ‘what

is the ruling of a single witness by a 112235, etc.’
— 712903 PPY¥2 DN 79 NN 132 9N 1Y 1IN Cmman 11 N

nww 27 answered them we learnt this in a /mwn: ‘They (witnesses) said to her,

‘your son died first and afterwards you husband died’ so she was 23»n» -
- 9t panxn Ppwuxa 1901 Xen 0393790 91990 1Y 19X 79 9NN

And then they told her it was the opposite; your husband died before your son,

the rule is she must leave her 02’ and the first and last child is a 917" for they were

born from an N7 MO°X relationship. This concludes the 71wn which w"1 cited. w"9 continues -
= N2 99U NN TIN0 DT YYONT 1NN NINDT NN NN 29N 291 N1IIIIN 137 959N

What are the circumstances of this case, where the ruling is “mn 799m Rxn; if
you will say that it was two 27V (who said the child died first and she is %
012°7) and two 0°7Y (who said the husband died first and she is 012° 770K), why
do you see to depend on these latter witnesses who forbid her to 212° (and you
rule Xx¥n and declare her children to be 0™m7), depend on these former witnesses

who permit her to 012> (and we should permit her to remain with the 03> and the children are
0" w2). The X3 there continues with s'w"™ proof.*' mooIn however discusses this issue of *Xn
21 T -

- Pabnn nhya NNY 09 ANONT ZNPINN MIPING 19 PR XD 7799 INNT YD)

35 The case there is where an 71X 7 testified that the husband, who was childless, died, which requires the husband’s
brother to be 01»» his deceased brother’s wife. Can he be 01»» her if there is only one 7v who testifies to his
brother’s death. The reason not to, is because perhaps she has a close relationship with her brother-in-law and would
(gladly) marry him without the X201°11 Xp**7.
36 %,2% nmae.
37 In this scenario if the child died first, the husband died childless and she is a proper 722> and eligible for o12>.
% In this scenario where the husband died first he was not childless when he died therefore his wife is forbidden to
the brother-in-law as 012 D3P»2 X2W 1PIR MWK, which is an N1 Mo°KR. The children of a 73 relationship are o> A,
* This refers to the child that was born to her and her 02> before they heard the second testimony (that she is
forbidden to the 02°).
* This refers to the child that was born to them after they heard the second testimony.
*1'It cannot be discussing n"1n (as w1 asked 131 NI *Xn) therefore we must say that initially only one 79 came and
said your child died first and she was 02n on the basis of his testimony (thus resolving the query that an X"V is
believed by a nn2°) and then two 0>7¥ came and said 0°1277 M7°1 therefore qmn 771 RN,
2 Before any of the 0>y came she was M0°X NP2 to the 02’ because she was an (X"X and) ¥ DIPPA ROW 1PIR NWR
for she had a son. We do not know who died first, the 710°% npii7 should determine that the husband died first and she
remains 02°7 770X as she always was.
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And it is difficult to understand " question of n°117 °X», for it is proper to place
her on her 7P that she is forbidden to her 22 and that therefore we would

assume that her husband died first leaving a child, which prohibits her from 212°. How
can ¥"7 suggest that we should be °3X 7m0 and permit her to remain married when this runs
contrary to her 02°% MO°X NP1

mooIn proves that this is a valid Mo°X npin (even though currently she may be “n°i1 npin2 to the
02, since both her husband and her child are dead):
- %5519 PAN N2 5P PYY 153N 993 233 (0w x5 97 ow) PN NYAIN 7993 1)99INTI

As the X7 i states in PR w398 P99 regarding the case where the house
collapsed on him and on his brother’s daughter, etc.

mMooIN continues to ask on the ruling of w"7 (according to the s™"1 explanation):

= NI 92) 1999NRTI ATDIND W NID 19299 NP2AD 299 Y917 1923 I
And additionally (even if we do not consider her 71%22°% MO°X npI2), since n''In
(even where there is a n°17 npin) is considered by the 3139 as a ppo (and if it is a
NN*TIXT issue we go X1mn?), we should prohibit her from the 01> as the *"

explained by 5R2% (that even though his mother had a In*1 npn, nevertheless since it is a
RN*MIRT issue we go RIn», the same should apply by the nn22).

mooIN rejects an anticipated answer to this question:
= 025D 1D RNNIT 1231257 ONN 1PININTI NPT XD DN

® This question seems to be both on >"w7 and the " who agree that by n"i1n we follow the 710°X np1i (but not on the
2"27 nvw later in this M2oIN (see (‘0N later by) footnote # 51).

44 123X has two wives 2117 and 1R, where 7RY is the daughter of his brother 1'wnw (whom he may marry). The rule is
if 72187 dies childless, 1wnw cannot be 02*» his daughter 8% and not even 217 (who is not related to him by blood,
because she is a 717v nnx. In this case the house collapsed on 72181 and 787 and they both died. If J21%7 dies first,
then at the moment of his death neither X7 nor 211 were eligible for 012° for they are 77y and 7Y nIx respectively.
However if 7x? died first, 717 is no longer a M1y n7¥ at the time of s'J123%7 death and she would be eligible for 012’ to
1wnw. The ruling is that 917 must receive 7¥°7n from wnw before she can marry anyone else (because perhaps 1X?
died first and she is 02°% 7PpP1) but NYNw cannot be 02n her, for perhaps 1211 died first and 57 is an X5W nX NWK
mM¥n Dpn2. On this »axr asked why should she require 71%°%m, since 711 was always PWw? n°n npna since she was a
Y NI (the X3 answered that the 7¥°91 270 is merely a xn). It is evident (from s™2aX question) that she is
considered P> 2n°1 NP2 even though that currently she is W% 70°R np1na (for she has no husband and no 71%),
nevertheless we follow the X7p°yn7 AP0 (not the Xnwi7 Ap1N), similarly here too (by her husband and son) since she
is X7p°wn 02°% MO°K npIna (because of her son), we do not consider the Xnwi7 AP but rather the XIpP°yn MO°R NPIN
and she should be X¥n, so what is s'@"2 question *37X T0?! ¥"¥1. [Others explain N90IN to mean that just like by 91
n"an we rule RI7 that she cannot be 02»nn because of her 02°2 MoK NP (or that she must receive 7%¥°°1) even
though it is n"n, so too by 71321 719¥2 we should also rule X172 that she should be &xn. However, the difficulty with
this explanation is how can we compare an 7191037 02N MK or a 771037 Y1212 211 to the ruling of TR 7211 RYN
729772, Y8
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For there (by 772> with her son) there is no N.?”'r,“s as the X7n) states there;46
‘sometimes she likes the 223>’ and wants to marry him so she will not be Xp>7.

N1B0IN answers:
- 0259 20N NPINY 799 AT YT NTT KD 9310 BYPN 9917 MY U

And one can say; that nevertheless (even though there is the X720 of X»r7) her

Xp»7 is sufficient to be 7pa% the 22% =198 NP, for she is still somewhat P> out of
concern that she may be 02°2 770K.

mooIn responds to an additional anticipated difficulty:
= NYD M0 PAD 1010 TV 91D NN M) 72997 XM

And regarding this which v"2 asks there by the 712 and her son, etc.; ‘and
furthermore, if we are discussing a case of n"1n, how can the mwn state that the
children (from the 02°) are @%91%%, at most they are 2391a» POY’, since there are two

07y who claim 792 nn 2"nRY 732 D so she is 02°% M. This concludes the X n3; now NMdOIN

continues with the difficulty -
= NN D29 90N NPINAT ) YY 9N

Even though she is 790°R np12 to the 233, so according to the *"1 that by n"in we follow
the 11, she is 02°% 770X °K7 and therefore the children are 0°717; how can w" argue that they
are only 0°77mn P90 —

mooIn responds -
- 19w979 AT NPT 2INNT INT AN NN XY BYPN Yan
Nevertheless the child is not a X7 91%» for her (lesser) P97 is effective to be

7van the AP as MdoIN explained previously -

mooIn offers an alternate (and opposite) explanation why the children are o°7mn po0 (only):
= DN 1NN NNPIN HY NTMNIYNY 1Y PN 491):1‘1‘1 NP90 Y9, Y907 1122 TV

* mooin stated previously that by 121 n» DX '2 we say X¥n X NXw31 ox even though she is X"X NP3, nevertheless

since she is X201'm1 Xp>°7 that makes a XMy in the X"X npr. However here by 712° we cannot use this explanation of

X7 since there is the concern of 222 7°% RanA.

46 1,3¥ nn2°. See (the end of) footnote # 35.

*" The query by 02°2 X"y was whether this lesser Xp»7 (because of 02*> Xnrn) is sufficient to allow her to be 027n»

based on the testimony of an X"¥; however, it is certainly sufficient to be 77v7n the 02° M) NP by n™n.

8 See footnote # 24 & 47. This [lesser] X120 ®p>>7 (by a 7n2%) is effective not only in regards to her (that Xxn R?),

but even regarding the children that they are not *X71 2°717 (only 2*7mn 90 [even if we would rule X¥n]).

* The ruling of n™n is that even if there is a 9> NP or that as result of following the 7P there will be a certain

X7 (in a Xn>IR7T situation), the 1327 rule that it is Poon oK. If we would follow her 119°X% npi and declare the child

a 7tn "X (since he is born from the N33 MO°X of AR NWR), this would result in a leniency that he is permitted to

marry a n7mn; we do not allow this leniency because (notwithstanding the 7P, which permits him to marry a
11
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And furthermore since n''n is a 31297 P20 we cannot place her on her npn
02°% MO°X in order to permit the child to marry a naran —

mooIn offers an alternate solution to the questions asked previously on the ;30

= APIAIN NNPIN 231 D92 19990NK NDT ¥ 7192 93 PNYY 139299
And the 2'"'2°9 explained that the reason we do not say in all these cases, let us

place it on the initial P11, is -
- Shnn 0Y1YN 0N AN YV INDINN IMN DINIINY DIVNY 295

Because the two 2°7v that remove him from the initial 77?17 of permissiveness

testified first -
- Z2ptNN NIPIN 139N N 1N JMTY 575 5Y INPINM RS YPYIYD 1919

So as soon as they testified that it is forbidden, it left its initial P37 status of 707
through their testimony (and it has the current M10°X npi), and we will no longer
say place it on its initial 7n°7 NP,

- NDYD NIV SN XY KW SN °9r9Y 7999 97
And therefore it is understood that which the X773 asked previously, what is the

difference between the Xw (by 7w7pn1 where we rule X¥n X?) and the X5°% (by
7wAAn1 where we rule RXxn), for the situation is -
= AYNN YTIYN NVIPNI DIIMINY DNIYT

That the 2%1w who said 7wTpn: they testified first (and removed her from her npm
7MID to a R"R NPIT), so why R¥n XY —
- UWIR NUN NPINA NNSD 0PN Y91 “N5NN Y1YN DNY 29 5Y N YNNI D3NN DIYA)

And by mwaan: 2R 2wuw even though the onni o7y testified first,

N7tn) he remains a 717 P90 and therefore he is w22 MOR and NN,
%% This refers to the cases of "1 N1 o™X '3, and 7WwIAN1 2R '3, the cases by in2, etc.
>! For instance in the case of "X (whose mother had a 7n°7 np1m) the 2>7v who said *Xanw X (and negated her npir
1n°77) came before the 0°7y who said *Xanw>k X%. This is not merely a conjecture but usually the 0°7v who appear first
testify against the 7P, for why should 2>7¥ come to substantiate a P11 which is already in place?!
>2 The apin by n"1n is the status that the first 279 give; not the status that was before 2>y came, for the first group of
o>7v nullified that initial 7211 and created a new 7pIn.
5 On 2,25 the X3 cited a contradiction that by 7w7pn X7 21X "1 IwTPNI 2 2 the rule is X¥N X2 NRWI OX,
however by 7w1an1 X2 2> 21 7wANI 2K 2 the rule is R¥N NRWI oX. Seemingly there is no contradiction for by
TwTPnI she is 7139 NPIN2 and by 7wIAN1 she is X"X NP3, this explains the difference (according to the °"7). What is
the difficulty in the 713?! See *Xn 71"7 &,30 'on.
> This would seemingly cause us to rule X¥n X> since she is now 2n’1 npma. However according to this
understanding the X n3 should not have asked ¥9°0 w"m1 Rw>1 w"n (that they should both have the same 1°7), but
rather that the ruling should be the opposite in both cases (by 1217p it should be X¥n &7 and by X¥n Pw17°3); however
the X3 asks that the ruling should be the same in both cases. Therefore n1v0I1n explains (according to the X"w1n)
that the jwpn there (mistakenly) assumed that the first set of 2>7v can only be XX from the 0 7 nptn (by 1"¥17R) but
not from the Mo°X NP1 (by PW1%), so he asks X950 W' Xw™1 w"n since in both cases there is a sort of M0°X NP1 (by
w17 through the 07y and by 1177 through her initial status).

12

TosfosInEnglish.com



1R 7"7 '010 2,70 M2 .7'"o2

nevertheless she was X''X NP2 (and that Jwpn» assumed that 2°2°nnn 079 cannot be XX
mPtn only 20T 2°7v), therefore the Jwpn asked X970 w"n1 R w"n.

MooIN continues with the 2"2°977 Mo:
- 75NN IND INPINN IMN PRIIND DY “INPT 129 NUNAT NN 19

And similarly in the case of 7129 7wR? 95 and of X2 in both these cases the two
0>7v which remove him from the 1?17 came first.

According to the 2"2>7 by n"\n we follow the 7p1m; however not the initial 711, but rather the
status which the first group of 0°7¥ bestow. It is not necessary to rely on 711277 X?°50 n"n or 7YX
X201 X7 in order to explain the contradictory mnna.

The " disagrees:
= PINN 15D 199991 PHYNYA XON NNAT PHN 19%39D NN PN

And this is not the view of the (7X1w 32) 3''1, for here in our X223 (regarding the

alleged w173 12), we do place him on his initial P17 (that X7 1737 m282 prmn) -
=INPINN ININKNI DY IMYDI 9257 1) by GN

Even though two 2’7y invalidated him and took him out of his 729> nptn, by
testifying that he is a 7w173 13, this testimony was before there were two 07y who testify that he
is a 7w> 172; according to the 2"2°1 he should be 9105 —

mooIN rejects a possible answer:
- 581:‘11‘,7 590 9PV TN 1YY I PY1PY N0 PNY

And it is not logical to answer that the first testimony of the %sw>%7 7¥ should
be effective to the extent that it places him 3772 npma —

mooin offers another reason why the difficulty cannot be resolved:
$119719°P0127 902D 0NV INN ITPONT 391D *yaT Tynwmn SWN 297 I

> This is the case where the first group said T>¥2 n» "X 732 M2 (permitting her for 212°), so therefore the ruling will
be Xx¥n X2 (even though initially she was 02°7 110°K npra) since the first 27y removed her Mo°R NP1,
%% The two o7y that say his mother was captured testified first, therefore removing her 2n>1 npin.
7 This seems to be s""w" opinion 71X1 77"'72 that the 7n°i1 NP1 is because of the X"Y (see footnote # 2).
3% The 2"27 (seemingly) maintains (according to the ") that (only) 2>7¥ have the strength to remove him from the
initial 77p1; however an X"V cannot nullify a 7pin (for an X"V is even weaker than a 2 as moin pointed out
previously on the &M 7"7 &"¥). And even if he does establish a 7P when the 2>7¥ came later and testified that he
is a w17 12 they nullified that mw> npn (like anytime two 2>7v come to nullify a 7pim).
%% The xm3 originally established the npY>n» between X" 3"awA in a case where an X"Y came initially then two 27y
and finally one 79, and the argument is whether there is a 7"'27 ¥Xm%°1. On this *wx 27 asked why do we need that an
X"V came first and last, the same concern of Xn2>1 will be if the two 2°%0197 @>7¥ came first and then the 2’7
2woni came and if we are not Xm> 17 wwit he will be a 2w> 175, This indicates that even if the 2°%019;1 7V came
first he stills retains his MWw> np1m; not like the 2",
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And furthermore it seems that X"~ wanted to say® that even if both 7y

2N came at the end (after the °7019771 0°7v testified) we would still elevate him
to 11179, even though there were no 0°7v at all who sustained his 7121713, there were only 0°20197 073,
and according to the 2"2" he should have a %105 npin and not be elevated to 71175 by this n™n.

SUMMARY

*"w1 maintains that by n"in we follow the 7211, but only regarding the person in
question; the P17 of the mother (father) does not apply to the child.

n" agrees that we follow the P (and the n2% 17 aXn npin), however if it is
N7 NPIn2 and it is a XN7IRT issue the 0°1o1 ruled that it is Po0»n MOKR (if it is NP2
MO, it 1S RNPIIRTA OXR °K71); however if it 1s a 131277 issue then it is M. The 7PN
of X201 XpP™7 WX negates the M0°X NP1 (even by w173 and 7ndY).

2"2°7 maintains that the effective 11 is the one established by the first o>7v.

THINKING IT OVER

1. Mmoo maintains that even though by n™n we follow the 711, nevertheless
N it is a poo.®! The S"waan asks that this contradicts what mooIn wrote
previously (°3n 7"7 X,23) that we are 7°won the 77 by n"™in since we place him on
his mw> npin, and we do not say that he is 3132772 9105, How can we justify the
s™"wAnn question when the case there is regarding mnww avp which is 12777
where we rule 87172,°* and how can we answer his question?®’

2. mdOIN asks in the case of the 217°Y with AX»L 72170 (790), that since 7"'772 7N 1S
11277, we should place the 72170 on its 777V npm.®* It seems that if 1712 770 would

60 The (11"7lﬂ 537) D°IW° N0 comments: D°IW 2T PWINT TR TY RAWD 79 P12 21 °WR 277 DANAR J2 PhX° 11°27 0N
T D DY PNYINN2A P T RY RAT ONPIRD YA KXY 1T AR 12 27w 2w IR 0 NRY A9RN 2290190 22w 1IR3 DaR 2000197
ANRT R2W 7Y 1°7272 WRn PR TIOR TV DK 207 ]1"3(7) 7nX. The >"1n understands that when X" asked >»1 0" 19°9% he meant
to say that we can explain the 73wn (whether X"y 9"y 7117797 P%¥n) in a case of n"n. We cannot say (says the >"1n) that
it will be considered X"y 5"¥ since the two 0>7°nni 0°7¥ did not come together but they came one after the other (after
the 0°701977 0°7v) so it is X"V *d 9¥. The "'n objects that X" certainly cannot mean this since when the first 1>nnm 7y
came his testimony is meaningless (it contradicts two 0*7¥), therefore when &"7 asked °»1 n"1n2 5% he meant that
there was an n%rn2 X"v, however his question was, why do we say there was only one 71027 *wn7 79, there could
even be two 71027 0>7v and the issue of Xm?°1 will remain. The > however can argue that X"1 says if the np1onn is
regarding Xm>1 why (does the mw») mention X"V at all, let it be a regular n"n; proving that X"2 maintains by a
regular N0 we place him on his initial 7P even though the °%01977 0>y came first.
6! See footnote # 12.
%2 See Manaw ™K.
% See X"wnn.
% See footnote # 16.
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be Xn>71X7 there would be no difficulty (for it would be a X212 XN™IRT XpP°0D).
However the whole rule of 12170 2177V is 1312777, so even if the 7170 1S XN»TRT,
the question is regarding the 217°v which is a 71277, so we should still be 7°nn!

3. mpoIN explains that by "1 021X '21 N 2R 2 even though she i1s X"X NP3,
nevertheless X¥n X, since the 7P of X201°M RpP*>7 AWK is 7vn the XX npm.®
However, granted that there is no X"X npim, nevertheless even if there were a NP
n°7, the ruling is that by a X187 X090 we go (j127172) X1mn2;%® why therefore is

the ruling xxn 8521’

4. nvo1N states that a woman is Xp>7 (even by 1Pw17°)) out of concern that 121 Xnw
"91.°® Why then did mpoin previously state that by naw 07y 'a (alone) she is not
NP”7,69 when there is the same concern of 121 111 Rpw?!

2'"2% ' ' P77 - PR
DY N NPIAR NP | DW N DR OAPIR | DW NI DPIAR APIR | ,90195 P L310 mMaR
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5 See footnote # 24.
% See footnote # 12.
57 See footnote # 23.
%8 See footnote # 34.
% See footnote # 26.
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